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INSTRUCTIONS TO CANDIDATES
· Do not open this examination paper until instructed to do so.

· Answer all the questions.
· The maximum mark this examination paper is [24 marks].
Read sources A to D carefully and answer the questions that follow. The sources and questions relate to the following aspect of the syllabus: Causes of expansion: the end of collective security; appeasement. 
Sources in this paper have been edited: word additions or explanations are shown in square brackets [ ]; substantive deletions of text are indicated by ellipses ... ; minor changes are not indicated.
SOURCE A 
Extract from The Age of Catastrophe: The Short Twentieth Century, 1914-1991 by Eric Hobsbawm, 1994. Hobsbawm, one of Britain’s most prominent Marxist historians, was a professor at the New School in New York.
However, another thing wove the treads of national politics into a single international web: the consistent and increasingly spectacular feebleness of liberal-democratic states; their inability or unwillingness to act, singly or in conjunction, to resist the advance of their enemies. As we have seen, it was this crisis of liberalism which strengthened both the arguments and the forces of fascism and authoritarian government. The Munich agreement of 1938 perfectly demonstrated this combination of confident aggression on one side, fear and concession on the other, which is why for generations the very word “Munich” became a synonym, in Western political discourse, for craven retreat.
SOURCE B 
Extract from A History of Europe (1996) by J.M. Roberts, historian at the University of Southampton and Oxford.
In 1935, Italian forces invaded Ethiopia [Abyssinia], an action clearly in breach of the Covenant of the League of Nations of which both countries were members. France and Great Britain were embarrassed. As great powers, as Mediterranean powers and as African colonial powers, they had to oppose Italy at the League. But they did so feebly and half-heartedly, for they did not want to alienate a country they would like to have with them against Germany if it ever came to struggle. The result was the worst possible one. The League failed to check aggression and Italy was alienated. Ethiopia lost its independence. This was one of several moments at which it looked as if a fatal error was committed. But it is impossible to say in retrospect at what stage the situation which developed from these facts became unmanageable and irreversible. Certainly the emergence of a much more radical and ferociously opportunistic regime in Germany was the major turning-point. But the depression had preceded this and made it possible.
Turn over
SOURCE C 
Extract from German historian Bernd Jürgen Wendt’s, Economic Appeasement: Handel und Finanz in der britischen Deutschland-Politik, 1933-1939 [Economic Appeasement: Trade and Finance in Britain’s policy in Germany, 1933-39], published in 1971.
Economic appeasement, like appeasement as a whole, was based in the final analysis on a total misinterpretation of the National Socialist regime and its objectives. In return for every agreement, Berlin demanded prior unconditional recognition of its political hegemony on the Continent. Britain could not grant these concessions without sacrificing her own security and risking another continental blockade. Again and again, she laid her hopes on the “moderates” among German politicians and businessmen, but they never really stood a chance against the party extremists led by Hitler. According to the aggressive ideology of Lebensraum the German economy had the sole function of preparing for autarky and war. Such a policy, which from 1938 maneuvered constantly on the brink of war, was incompatible with a concept based on “economic reason” for which the preservation of peace was the basis for combatting national difficulties.
SOURCE D 
A cartoon by David Low, published in the London Evening Standard, 2 October 1933. 
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“WELL - WHAT ARE YOU GOING TO DO ABOUT IT NOW?”

[Source: London Evening Standard]
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1. (a) According to Source B, what were the effects of the Italian invasion of Abyssinia?
 








[3]
(b) What is the message conveyed by Source D?  



[2]
2. 
With reference to its origin, purpose and content, analyze the value and limitations of Source C for an historian studying German foreign policy during the Third Reich.








[4]
3. 
Compare and contrast what Sources A and C reveal about the nature and effectiveness of responses to German and Italian aggression.

[6]
4. 
Using the sources and your own knowledge, assess British and French responses to German and Italian aggression from 1933-39.


[9]


Markscheme for Paper 1 - Causes of expansion: the end of collective security; appeasement. 

1. (a) According to Source B, what were the effects of the Italian invasion of Abyssinia?









[3]
The effects of the Italian invasion of Abyssinia included:

· the League of Nations’ Covenant was breached; the League failed to stop this breach

· France and the UK were embarrassed

· Italy was alienated

· Ethiopia lost its independence

· A more radical and opportunistic Germany emerged

Award [1 mark] for each relevant point up to a maximum of [3 marks]. 

(b) What is the message conveyed by Source D? 




[2] 

Germany was aggressive and lacked respect for the Versailles system

· Hitler is dressed in a military uniform; he has a sword and a gun

· His facial gesture indicates disdain for the ToV which he is holding in his hand

The League was held hostage by the actions of Hitler

· The LoN has its hands tied behind its back; Hitler is sitting on its lap and it is unable to do anything about Hitler’s actions

The French, British and Italy response was tepid and weak

· Hitler has complained about the Allies failure to disarm 

· The facial gestures and mannerisms of Simon (UK), Mussolini (Italy), and Daladier (France) reflect weakness

· The space between Hitler and these three men represents the gap between their conceptions of a just international system

Award [1 mark] for each valid point up to a maximum of [2 marks]. 

Do not enter half marks or + and – but compensate between (a) and (b) if necessary for a final mark out of [5 marks]. 
2. 
With reference to its origin, purpose and content, analyze the value and limitations of Source C for an historian studying German foreign policy during the Third Reich.








[4]
Value
As a German, the author would be able to access German language sources (origin)

The work reflects the work of a specialist; it is a highly focused work (purpose)

The book is written 30 years after the events under study, leaving enough time for hindsight to develop (origin)

Limitation
It was published 45 years ago, so doesn’t have access to the latest research (origin)


The source is about British policy in Germany, not German foreign policy (purpose)


It is a translation from a German work and may have lost its original meaning (origin)

3. 
Compare and contrast what Sources A and C reveal about the nature and effectiveness of responses to German and Italian aggression.


[6]

	
	Level descriptor 

	5–6

	• There is discussion of both sources. Explicit links are made between the two sources. 
• The response includes clear and valid points of comparison and of contrast. 

	3–4

	1. There is some discussion of both sources, although the two sources may be discussed separately.  

2. The response includes some valid points of comparison and/or of contrast, although these points may lack clarity.  [image: image2.png]




	1-2
	· There is superficial discussion of one or both sources.  

· The response consists of description of the content of the source(s), and/or  general comments about the source(s), rather than valid points of comparison or of contrast.  

	0
	• The response does not reach a standard described by the descriptors above. 


Note: Examiners are reminded of the need to apply the markbands that provide the “best fit” to the responses given by candidates and to award credit wherever it is possible to do so. 
Indicative Content

Comparison: 

· Both sources make reference to appeasement (Source A – Munich; Source C – “economic appeasement)

· Both indicate that the response was ineffective and increased tension (A: “strengthened… fascism and authoritarianism; C – Germany prepared for autarky and war)

· Both are critical of the response (A: “inability, unwillingness to act”; C: Britain’s response was based on a “total misinterpretation” of the Nazis)

Contrast:

· Source A focused on “liberal-democratic states”; C focused on British policy

· In Source A, Germany is treated monolithically; C makes reference to the moderates within the German regime

· A focuses on ideology; C focuses on economics

· A indicates that the liberal democracies were willing to concede; A states that Britain couldn’t make concessions because she didn’t want to sacrifice her own security

· A states that the response failed because of inability, while C lays blame at the hands of a “misinterpretation” of the Nazis’ position

Do not expect all of the above.  

4. 
Using the sources and your own knowledge, assess British and French responses to German and Italian aggression from 1933-39. 


[9]














	Marks 
	Level descriptor 

	0
	The response does not reach a standard described by the descriptors below. 

	1–3
	The response lacks focus on the question. 

References to the sources are made, but at this level these references are likely to consist of descriptions of the content of the sources rather than the sources being used as evidence to support the analysis. 

No own knowledge is demonstrated or, where it is demonstrated, it is inaccurate or irrelevant. 

	4–6
	The response is generally focused on the question. 

References are made to the sources, and these references are used as evidence to support the analysis. 

Where own knowledge is demonstrated, this lacks relevance or accuracy. There is little or no attempt to synthesize own knowledge and source material. 

	7–9
	The response is focused on the question. 

Clear references are made to the sources, and these references are used effectively as evidence to support the analysis. 

Accurate and relevant own knowledge is demonstrated. There is effective synthesis of own knowledge and source material. 


· Indicative content 
· Source A: “liberal-democratic states” were unable and unwilling to act either on their own or in conjunction with others; Munich represented “fear and concession”
· Source B: The invasion of Abyssinia embarrassed France and Great Britain; the League failed to check Italian aggression; regardless, Italy was alienated and Germany was emboldened; this was a “major turning point” and resulted in a “much more radical and ferociously opportunistic regime in Germany”
· Source C: British policy was misguided and didn’t understand the challenges of Nazism; economic appeasement and appealing to German moderates was an ineffective response to German aggression
· Source D: German action at the Geneva Disarmament Conference challenged Italian, British and French diplomacy; Hitler’s actions went unchallenged by these actors and the League
· Own knowledge in support of the statement: The Stresa Front failed to stop German rearmament; Italy conquered Abyssinia in March 1936; the League didn’t oppose German re-occupation of the Rhineland (March 1936) or Anschluss (March 1938); Hitler’s pressure on Czechoslovakia resulted in the Munich Conference (Sept. 1938), capture of the Sudentland (October) and the rest of Czechoslovakia (March 1939); the British and French guarantee of Polish sovereignty (March) resulted in the outbreak of WWII (Sept. 3, 1939) after the German invasion on September 1.









